Index vzdělanosti: 

skupina: váha 1 (ZŠ + bez vzdělání + nezj.)

skupina: váha 2 (SŠ bez mat.)

skupina: váha 3 (SŠ s mat. + VOŠ)

skupina: váha 4 (VŠ)

index vzdělanosti = (1*SK1 + 2*SK2 + 3*SK3 + 4*SK4) / obyv.15+


celkem


věřící

nevěřících
nezjištěno

 Praha: 1 000 000

250 000
600 000
150 000


celkem


věřící

nevěřících
nezjištěno

 Praha: 1 000 000

250 000
600 000
150 000





 29,4 %
  70,6 %

--------věřící + nevěřící ≠ 1 000 000
Rozpočítání „nezjištěno“: 

250 000 + (150 000 * 0,294) = věřící

600 000 + (150 000 * 0,706) = nevěřící

--------věřící + nevěřící = 1 000 000





věřící

nevěřící
nezjištěno

Rozpočítaná data:

294 100
705 870
----------
